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Name

Simpiity.
1. 96 +8 - (4 +1)
5. (880 0.

| +8+2) + (7x4)

7. 9+4+1x3

Y. (I x5+10) =~ 3+ 2Z+4)

Il.

13. 840 +2 x 60 4

i5, (6 x2x3) -3

17. (93+3+4) + (9-2)

19, 404+ 2 -4 20,

21.

(7T4+2) + 2x5) x1

125, (O x4) + (1-2)

(6-1-5)
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(Answer ID # 0880244)

Order of Onerat!ons

2. 6x1x2

(8-2) x (36 +4)

9-(2-3) x1

(8-5) + (4% 1)

U 6+ (0-1) -2+1

8+ (2 x 3)

6-3+81+9

. 9 x 5.4

6-4+3 x5

G x4) - 3+ 1)

(8

4+5+3) + (7+4-1)
(120 + 3 x 3)

98 ~7-2x1
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1. 96+8- (4+1) 7 12. 6x1x2

13. 7x4+5 33 4. (8-2) x (36 +4)

7. 9+4+1x3 16 |8 (8-5)+ (4x1) 7
Q. (9% S+10) + (5+7 + 4) s 10 6+ (5-1) -2+1 :
(T R [ TYCEE
13, 840+2 x 60 + 4 6300 |14. 6-3+81-9 12
15, (6X2%3) -3 33 116, Sx5-4 i1
17. (93 +3+4) + (9-2) 18. 6-4+3x5 17
19. 404 +72 -4 198 [20. (9x4) - (3+1) 32
21, (6-1-5) ' 0 [22. (8+4+5+3) =~ (T+4-1) 2

23. (74+2) + (2x5) x 1 47 |24, (120+3 x 3)
25. (5x4) ! (1-2) 19 126, 98 :7-2x1 12
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Name Date
(Answer ID # 1083813)
Sim plify.
l. (850 x47) x 154- (5-4) 2. 67+ (3 +268) |
3. 8 x 267 +21 x 33 4. 659 + 51+ 265 x 38 x 180

7+ - 4) 6. 6% 43
7. 998 x 179+ (4 x 503) 8. (79-31) + (5+5 x 13) ' I

9. 990 x 31-27 0. (5+292+378) x 15 1

74 + 27 + 195 (76 x 5) x 15 - 459
13. 7 x 376 + 170 C (77x3) - (38-5) +464
| x 28 x (481 + 1) . (O x 1) + (44 + 384 - 238) |
17. (95 x 3 x 23) ' 18. 99 + 165 - 2 _—_‘l
21. (88 + 185) + (1 x 295) 2. 9x55x519

23. 804 -18x (23 +2) 124, (6 % 135) + (39-186) +3
125, 7+ 24+ 254 126. ' : i
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Answer Key 1083813

I (850 x47) x 154 - (5 - 4) 6152299 [2. 67+ (3 +268) 338

|3. 8 x267+ 2] x 33 Z829 4. 659+ 51 + 265 x 38 x 180 1813310

7. 998 x 179+ (4 x 503) 180654 |8, (79-31) + (5+5 x 13) 118
l

1o, 990 x 31 .97 663 110 (54202 +378) x 15 x 1 1n12s |
1. 74+27+ 195 296 |12, (76 < 5) x 15 - 459 5241
13. 7 %376 + 170 2802 |14. (77 x3) - (38-5) + 464 662
15. S5 x28x (481 + 1) i336i64 [16. (5 1) + (34 + 384 - 238) 155
19. (74+4) x (104 x 44) 356928 120. 8 x 3 x 144+ 258 - 10

21 (88+185) + (1 x 295) 568 |22. 9 x 55 x 519 256905

23. 804 -18 x (23 +2) 354 124, (6 x135) + (39 - 186) + 3
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